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• Study table 1 carefully and calculate the PeD for all price rises e.g. 0 to 1 and 
1 to 2 etc? Put your results into the column Ped on Table 1. 
(B)Then using your results + the schedule in table 1 do questions 1-12. 
Answers are available under Box 1.                                                             

 
Table 1: Demand schedule for good X 

 

PeD   Price   Qd Total revenue (pxQ)
7.00 (-)  (7 to 8) 8 0 0 Infinity
3.0 (-)    (6 to 7) 7 5 35 -7
1.66 (-)  (5 to 6) 6 10 60 -3
1(-)unit  (4 to5) 5 15 75 -1.67
0.61 (-)  (3 to 4) 4 20 80 -1
0.33 (-)  (2 to 3) 3 25 75 -0.6
0.14 (-)  (1 to 2) 2 30 60 -0.3
infinity  (0 to 1) 1 35 35 -0.14

0 40 0    
 
1. draw the demand for x. 
2. Now Calculate the ped at every price fall. For answers Reduce box 4 
3. What type of good is good X likely to be? 
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           Reduce to see answers 

Task1  
 

1. (a) Candidates may include the following information:  
• explanation of how price is determined  
• indication that it is mainly the supply of agricultural products 

that is very volatile thus resulting in large price fluctuations  
• explanation of different price elasticities of demand for 

agricultural and manufactured goods -see red and blue diagram 
opposite 

• explanation of the different price elasticities of supply for 
agricultural and manufactured goods -see red and blue diagram 
opposite 

• diagram showing shifts in supply and demand curves for both 
agricultural and manufactured goods resulting in large change of 
price for agricultural goods and smaller change of price for 
manufactured goods.  

NOTE: Candidates may refer to income elasticity in connection with 
agricultural and manufactured goods. Examiners should be aware that 
candidates may take a different approach, which if appropriate should 
be rewarded. To reach level 3, an appropriate diagram must be 
included. 

 
 
 
 
 
 
 
 
 
                                                Answers to Task 3 
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Box  4 
   

Note 1: 
you cannot 
divide by 0 = 
infinity 

5/0 = 
infinity 

Note 2: But… 
 

0/5=0 
 

Manufacturing Agriculture      Which diagram below shows agriculture? 
              Answers Task 3 
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1a  Using supply and demand 
analysis, explain why the price of 
agricultural goods tends to fluctuate 
more than the price of manufactured 
goods. 10/25 marks. 
 


